Math 1101

Practice Test 1

NAME_______________________________________________________

Directions: Show work and write clearly. Correct answers with only partial work may receive only partial credit. You may use a calculator on this part – explain how you used the calculator as part of your answer.

1. (15 points) Consider the information in the table below:

	a
	–3
	5
	0
	–2
	4
	–5
	2
	1
	–1
	–2

	b
	1
	2
	3
	4
	5
	6
	–3
	–2
	–1
	0


a. Could a be a function of b? Explain. If so, express the relationship in function notation.

b. Could b be a function of a? Explain. If so, express the relationship in function notation.
2. (20 points) 

a. What are the slopes and y-intercepts of the following linear functions:


i. 
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iii. 
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iv. 
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b. Are any of the lines above parallel? Perpendicular? Explain.

3. (25 points) There are two functions in the table below.

	t
	g(t)
	h(t)

	–1
	22.40
	1.6

	2
	25.09
	2.5

	3
	28.10
	2.8

	7
	31.47
	4.0

	8
	35.25
	4.3

	12
	39.48
	5.5


a. Which one is a linear function? Explain. 

b. What is the equation of the linear function?

4. (15 points) Find the equation of a line:

a. that has slope 3 and y-intercept –2 

b. that has slope 1/2 and passes through the point (1, 2)  
c. that passes through the points (2, 1) and (–4, 7)  
5. (10 points) Let 
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. Compute the following expressions and interpret each as an average rate of change.

a. 
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b. 
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6. (15 points) Identify the vertical intercept and the slope and explain their meanings in practical terms:

a. The cost, in dollars, of a flight carrying n passengers is given by 
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b. The profit, in dollars, of selling n items is given by 
[image: image9.wmf]200

3

.

1

)

(

-

=

n

n

P

.

_1124357528.unknown

_1124359710.unknown

_1124360389.unknown

_1124360582.unknown

_1124359743.unknown

_1124359638.unknown

_1124357231.unknown

_1124357314.unknown

_1124357221.unknown

